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HEBLZELD, a=h2c &BITIX

20(a) = (h —1)2¢ 72 D WHIZ h 22T 5 & 2hp(a) = (h—1)a

A=2h+m+1%2FHEIEL (h—1) 20T 5L

(h—1A=2hp(a)+(h—1)m+ (h—1) 72D p(A) =a+m &5,

UEDZ &2 EHOETIENRDEHREZT S

(FE#%)

(h—1)A=2hp(a)+ (h—1)m+ (h—1). p(A)=a+m

G729 a % m 72 FEATREI U 725 3 M BEuler 8722 E W, A Z D= |
F—EWnI,

ZZTRITNBERE X o8 WHWIZERTET

a=ax*pA=px%q(pqlTFELH)

PEBEDHZ2EDE N,



h =3 D& &5 3 M Euler #5524

24 =6p(a) +2m+2,p(A) =a+mDFD
A=3p(a)+m+1,p(A)=a+m

L5,

ZDrEm=-22-19,-16,—-10,—-9,-7 DGEEEET 5,

#1:h=3m=-22

a | BREOM | A | BRI E
24 | 233 3 3

40 | 22%5 27 33

46 | 2*23 45 32 %5
58 | 2*29 63 327
82 | 2*41 99 32 %11
94 | 2%47 117 | 3%%13
118 | 2*59 153 | 32 %17
184 | 23 % 23 243 | 3°

202 | 2*101 279 | 32 % 31
262 | 2*131 369 | 3% %41
274 | 2*137 387 | 32 %43
208 | 2*149 423 | 3% % 47
334 | 2*167 477 | 32 %53
382 | 2*191 549 | 3% %61
454 | 2%227 657 | 32 %73
514 | 2*257 74T | 3% % 83
622 | 2*311 909 | 3% %101

m = —22

A=3pa)—21. p(A)=a—22&D

AF3DEHED A=3'M (MIZ3DEHTRY) Lt 5,
&> T3'M =3p(a) — 21,

3IM =p(a) -7, £722x 3 1p(M) = a — 22

a IMEHED a=2°L (LIF2D[HHTHRY)

3/7IM = 2¢7Yp(L) — 7,3/ 7 Yp(M) = 2¢71L — 11

£oT

3/ Lcop(M) + 2¢ Leop(L) = 4

3/ Lcop(M) = 3 2D 2¢Leop(L) = 1



=2, M=Q. e=1, L=p &b a=2pA=3%Q.
NEEHRTRALT32Q = 3p(2p) — 21
3Q=p-1)—-T&>Tp=3Q+8 (A—r3—=WTHEH)

3/ Lcop(M) = 0 2D 2 Leop(L) = 4

M=1 e=3, L=p&ba=2pA=3"
InzEHRNTMRALTI =3p(2%) —21=22x3(p—1) — 21
3l =4(p—-1) -7 &oT4p=3"1+11.



*2: h=3m=-19

a FINBE | A F IR it
67 67 180 | 22%3%2x5

139 | 139 396 | 22%x32x11
163 | 163 468 | 22 %32 %13
211 211 612 | 22%3%2x 17
283 | 283 828 | 22 %32 %23
379 | 379 1116 | 22 %32 % 31
499 | 499 1476 | 22 % 32 x 41
523 | 523 1548 | 22 % 32 % 43
571 | 571 1692 | 22 % 32 % 47
643 | 643 1908 | 22 % 32 % 53
739 | 739 2196 | 22 %32 %61
811 811 2412 | 22 % 32 % 67
859 | 859 2556 | 22 %32 % 71
883 | 883 2628 | 22 %32 %73
1171 | 1171 3492 | 22 %32 %97

m = —19

A=3¢p(a) —18,p(A) =a—19

AlX23 DR E D A =203 M(M %23 DFETHRW) &0t 5,
2¢ %3/ M = 3p(a) —18 £ D 2% 3/"1M = p(a) — 6

2¢ % 3/ 1p(M) = a — 19

&0 2¢ %3/ Lcop(M) + cop(a) = 13

2¢ % 3/~ Lcop(M) = 12 22D cop(a) = 1

2053/ =12M =Qa=p

e=2f=2&D a=pA=2%x%3%Q,

EHERNRALT22532Q =3(p—1)—-18&D 2%x3Q =p—-TDFEDH p =
22 % 3Q + 7.(A—78—=MFHEE)



#3: h=3m=-16

a REBE | A SR N8B 1

18 2 x 32 3 3

28 22 % 7 21 3*7

52 22 %13 o7 3*19
76 22 %19 93 3*31
148 | 22 % 37 201 | 3%67
172 | 22 % 43 237 | 3*79
256 | 28 369 | 3%x41
268 | 22 % 67 381 | 3*127
292 | 22x73 417 | 3*139
316 | 22% 79 453 | 3*151

412 | 22 %103 597 | 3*199
436 | 22 % 109 633 | 3*211
556 | 2% % 139 813 | 3*271
628 | 22 % 157 921 | 3*307
772 | 22%193 1137 | 3*379
892 | 22 %223 1317 | 3*439
1108 | 22 % 277 1641 | 3*b47
1228 | 2% % 307 1821 | 3*607

m = —16

A =3p(a) — 15,p(A) =a — 16

A =3 M(MIZ3DFEHTIRN) a=2°L(LI13&EK) LFIT 2,
3'M =3x2"1p(L) — 15, 3/7'M =2¢"1p(L) — 5

2437 1p(M) =2°L — 16, 3/ 'p(M) =271 — 8

3/ Lcop(M) + 2¢ Leop(L) = 3

3/ Lecop(M) = 3 9D 2¢"Leop(L) = 0
F=2M=0QL=1%&b A=32Q,a=2
REARALTIQ =3%2"1-15, 3Q =2°"-5

3/ Lcop(M) = 1 2D 2 teop(L) = 2

f=1. M=Q. e=2, L=p

A=3Q. a=2pEHRTMRALT3Q = 3p(22p) — 15
Q=2(p—-1)—5 Q=2 —T,



3/~ tcop(M) = 0 9D 2¢7Leop(L) = 3

M=1le=1L=9

A=3"a=2x32&D 3 =3p(2x3%) —1531=2x3-5kD f=1
a=2x3%A=3.



*4: h=3m=-10

a | RN | A FIR B
12 |22%3 3 3

22 | 2%11 21 | 3*%7
28 | 22x7 27 | 33

34 | 2%17 39 | 3*13
46 | 2*23 57 | 3*19
82 | 2%41 111 | 3*37
94 | 2%47 129 | 3*43
142 | 2*71 201 | 3*67
166 | 2*83 237 | 3*79
172 | 22 % 43 243 | 3°
202 | 2*101 291 | 3*97
214 | 2*107 309 | 3*103
226 | 2*%113 327 | 3*109
262 | 2%131 381 | 3*127
334 | 2*167 489 | 3*163
394 | 2%¥197 579 | 3*193
454 | 2%227 669 | 3*223
466 | 2*%233 687 | 3*229
562 | 2*281 831 | 3*277

m = —10

A =3p(a) —9,p(A) =a—10

A=3"M(M %3 DEETHN), a=2°L(LIE2DFEHTEHR) 05,
3'M =3p(2°L) — 9,3 1M = 2¢71p(L) — 3

03T M) =2°L — 10,3/ Yp(M) = 2L — 5

£ o T3 cop(M) + 2 Tcop(L) = 2

3/ lcop(M) = 12D 2¢ Leop(L) = 1
f=1. M=Q. e=1. L=p
a=2p. A=3Q
IhzEHEAIRALTQ=p—1

3/ tcop(M) = 0 9D 2¢"Lcop(L) = 2
M=1, e=2, L=p &b
a=2*pA=3



INEEHFNIRALT3 1=2p—-5



#£5 h=3m=-9

a | RRBOMHE | A eIy
21 | 3*7 28 22 % 7
33 | 3*11 52 22 %13
69 | 3*23 124 | 22 %31
93 | 3*31 172 | 22 % 43
129 | 3*43 244 | 22 x 61
141 | 3%47 268 | 2% %67
201 | 3*67 388 | 22x97
213 | 3*71 412 | 22103
309 | 3*103 604 | 2% %151
321 | 3*107 628 | 2% %157
329 | T*47 820 |22 x5x%41
393 | 3*131 772 | 22 %193
453 | 3*151 892 | 22 %223
489 | 3*163 964 | 2% x 241
573 | 3*191 1132 | 22 % 283
633 | 3*%211 1252 | 22 % 313
669 | 3*223 1324 | 22 % 331
681 | 3%227 1348 | 22 % 337
753 | 3*251 1492 | 22 % 373
849 | 3*283 1684 | 22 x 421

m= -9

A=3p(a) —8p(A)=a—-9
alZ3DFEMEMBET B L a=3L(L L3 D/EETRN) &) b,
A=2x%3%(L) -8, ¢(A)=3°L—9

AZEEE D A=2" M (M IZER) &5 5,

2/ IM = 3°p(L) — 4. 2/7Yp(M)=3°L -9 kD

2/ cop(M) + 3°cop(L) =5

2/ cop(M) = 2 12D 3°cop(L) = 3 DGH
f=2m=Qe=1L=p &b a=3pA=220Q
INZEHRANTRALT22Q =39p(3p) —82Q=3(p—1)—4=3p—7
a=T+47A=22x5x41 IFEHERZW =T 1R TH 5,



£6: h=3m=-T

a FINBHE | A FINE G i
23 |23 60 22%3 %5
25 | 52 54 2 % 33

31 |31 84 22 %3 %7
47 | 47 132 | 22%x3x11
71 71 204 | 22%3x17
79 |79 228 | 22%3x%19
127 | 127 372 | 22%3x31
151 | 151 444 | 22 %3 % 37
167 | 167 492 | 22 %3 %41
191 | 191 564 | 22 %3 %47
239 | 239 708 | 22 %3 %59
271 | 271 804 | 22%3 %67
359 | 359 1068 | 22 % 3 %89
431 | 431 1284 | 22 % 3 % 107
439 | 439 1308 | 22 % 3 % 109
599 | 599 1788 | 22 % 3 % 149
607 | 607 1812 | 22 % 3 x 151
631 | 631 1884 | 22 % 3 157
719 | 719 2148 | 22 % 3% 179
727 | 727 2172 | 22 % 3% 181
911 | 911 2724 | 22 % 3 % 227
919 | 919 2748 | 2% % 3% 229

m = —7

A =3p(a) —6,p(A)=a—T7

AR3DEEED A=3"'M (miZ3DfETHRY) &I S,
3/ M = 3p(a) — 6,

3IM = pla) — 223/ tp(M) =a—7

M =2°L (LI3MEE) &»F 5,

31 % 2¢L = p(a) — 2,3/t % 2°0(L) =a— 7

3771 x 2¢cop(L) + cop(a) =5

3171 % 2¢cop(L) = 4 12D cop(a) = 1 DHE
a=pf=1le=2L=0Q &Y a=p2%*30Q.
EZATRALT22x3Q=3(p—-1)—-6&D4Q=(p—1)—2,p=14Q + 3,
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371 % 2¢cop(L) = 0 212D cop(a) = 5 DHE
L=1a=25=52A=3p(52) —6,A=3%4%5—6=54—2x3
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